o

1. 56+08 7 Al $3 24 e AL o= AU

® 49+0.7 @ 21+03
@7.8 +1.3 ® 12.6+1.8

@ 14.7+2.1

~&B

56+0.8=56+8="7
D49+07=49=7="7
©®21+03=21+3=7
®147+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7




3 2 } 1
AL 1mo FAE 4= kg Ay, £E2 H 625 kg
7F?

1 1 1
@ 10§m @ 11§m ©) 126m
@ 136m ® 14gm




(=2l iee]

o

ul il

A A




4. The AR 2ol ol Azl Aol o] B Hje 7

5
7CII1




A 7tE FollA 2
TE

O X
=S

o
=

5.

<
gl

mJ

s

N

<F
i

ol
T

=

N

6+ 3 — 2(u) QJUITh

o™ I~

O b~

A




6. Al FolA Fol 1 Brh Ae AL of= AYUL?

® 57.96+9.2 @ 7.44-0.6 3)8.96+11.2

@ 21.5+2.5 ® 1.82+1.3

B

%ol 1 Hof 2o A e 7} ol X = = E T Aok iyt
D 57.96 +9.2=6.3

@744+0.6=124

®896+11.2=0.8

@ 215+25=286

®182+13=14




7. ohg RIS Hg0] F EAHR £ e 124 L.

0.408, 48%, 48.8%

® 48.8%, 0.408, 48 % @ 48 %, 48.8%, 0.408
@ 48%, 0.408, 48.8% @48.8 %, 48 %, 0.408

® 0.408, 48 %, 48.8%

B

nE 242 Ueifo] Yt

48 %— 0.48

48.8 %— 0.488

whabA] 48.8 %> 48 %> 0.408 YU T}




o= 7oA 3500 UAHE] B AL oA 20% © o]0} ol 1
I gtk ol & o] 79 o elFo] 14000 Yol Uk o]
o 7N A B BAL B AU

- X

e I

= 7h

>
> =l 207

14000 + (3500 x 0.2) = 20 (7H)




277} 69.08cm? Y} E¥9] oI/} 36.4em8l BAZIFo]
ohoohg [ Job] gwe 48 AgoAe,

145

29| Yo7t A2t Wolmet
[ Jem?wh2 o Wy

n
o
=

[ V)

>
[> = 297.13cm?

Ao] ¥HA) 5

(HFA] )2 x 3.14 = 69.08

(HF2]5)x6.28 = 69.08

(HF2] )= 69.08 + 6.28

(§F2]5)= 11(cm)
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